N & 0l & AF & & A A
2019H1E 5 18 Lers|X A&
SN AeD
=R RN
ool X (eol:@e)
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
285 67,450,247 38,505,088 28,945, 159
= 2,929,000 623,000 2,306,000
2 6,905,000 6,955,200 50,200
= 1,018,400 1,091, 100 AT72,700
2 56,597,847 29,835,788 26,762,059
NESED 17,428, 180 6,267,180 11,161,000
= 200,000 0 200,000
2 17,228,180 6,267,180 10,961,000
N op g el 17,428, 180 6,267,180 11,161,000
= 200,000 0 200,000
2 17,228,180 6,267,180 10,961,000
ARE FUSAANY HA 16,348, 180 5,592, 180 10,756,000
203 & R F A H| 0 3,000 £3,000
03 AT LR F T 0 3,000 £3,000
O4ARE ZOI=AY L 0IY IRXX 09 0 3,000 3,000
401 Al HI L 2 CH bl 16,324,000 5,565,000 10,759,000
01 Al&HI 16,179,514 5,513,286 10,666,228
OMLOIS THaH Ol 2 A S 99,100,000 99,100 0 99,100
OBEES ARA 02 222 FHIAY
198,560, 0008 198,560 0 198,560
OHE H+2 FHIZ A 29,676,000 29,676 0 29,676
OYHOISLUZ %L HAZ FHIB A
24.730,0008! 24,730 0 24,730
OHEOIS BI+2 FHI B A 39,568,0002! 39,568 0 39,568
OMAY WAl HHIAZ  15,000,0008 15,000 0 15,000
O8I OS2 AFBEHIZA 24,730,000 24,730 0 24,730
OUR0IS AU HEFTA 39,568,000 39,568 0 39,568
OAADIE 52 HEBA 19,784,000 19,784 0 19,784
OFN WIl =2 SZIBA 29,676,000 29,676 0 29,676
O M HHIZA 19,784,000 19,784 0 19,784
OBN NE 52 SEITA 49,460,000 49,460 0 49,460
OXAS OtSet2 HHIZ A 19,784,000 19,784 0 19,784
OU=R =2 He L MEZHISA
29,676,0008! 29,676 0 29,676
OM& W3S OfA= ZHIA  39,568,0008 39,568 0 39,568
OYR17 otz SHTIBA 59,460,000 59,460 0 59,460
OZY0IS A2 HHABLTA  30,568,000% 39,568 0 39,568
OYN1T o+ ST I B A 49,460,000 49,460 0 49,460
O3SA WYS2 Jt=dl X
15,000,000 15,000 0 15,000
OYR17 otz TEBA 29,676,000 29,676 0 29,676
OEZ20tz YeEABA 29,676,000% 29,676 0 29,676
ONE 52 Ot2A2 WEIIZA 29,676,000 29,676 0 29,676
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SA-3H-S(3AH) - MRAS - BES Off &t 24 INEH Hns2
OSXRAME EHHlSA 29,676,000& 29,676 0 29,676
Otlbtel s2 ZE3A 19,784,000& 19,784 0 19,784
OZHZ MAE ZFHISAM 29,676,000& 29,676 0 29,676
ONE HAE HEISA 29,676,000 29,676 0 29,676
Osldtd M&E ZHISA 49,460,000 49,460 0 49,460
Ootd Itet= =2 JHl 29,676,000& 29,676 0 29,676
OEY BEXHYOl == FHHl 69,370,000 69,370 0 69,370
OS317 OS2 =2 FHl 29,676,000& 29,676 0 29,676
OZdtglar F etz FHH 19,784,000& 19,784 0 19,784
OBtE |4 =2 FH 15,000,000& 156,000 0 15,000
O= MMz A& ¥ etd Fi|

49,460,000& 49,460 0 49,460
OEY ZH& A& EH| 39,568,000 39,568 0 39,568
Ozt HEEl A& FHbl 29,676,000& 29,676 0 29,676
OJtetorE =2 &l 19,784,000& 19,784 0 19,784
OZJ tHegs AaE FH 29,676,000& 29,676 0 29,676
O8& R= N&E EH 39,568,000& 39,568 0 39,568
Ouns "o A& EH 39,568,000 39,568 0 39,568
OSZE Ot E =2 FHl 15,000,000& 15,000 0 15,000
OHet 22 s28 = 19,784,000& 19,784 0 19,784
O0fd27 =2 =2 % 29,676,000& 29,676 0 29,676
O2slte s &1 29,676,000 29,676 0 29,676
OX4t0rs otz otAZxEE 29,676,000& 29,676 0 29,676
OdF0te &¢d EZ3AM 29,676,000 29,676 0 29,676
Odtss flgs2 22 29,676,000 29,676 0 29,676
OF&1x BOJl s X E 15,000,000& 15,000 0 15,000
Olistes F=AHa FH 29,676,000 29,676 0 29,676
O&Esy M2 OtAZEH 29,676,000& 29,676 0 29,676
O==2E82 s2 =& 29,676,000 29,676 0 29,676
O2A &gz & d 19,784,000& 19,784 0 19,784
osotnsdgz otAZZE 29,676,000 29,676 0 29,676
Oots0tE NM&EEHI 29,676,000& 29,676 0 29,676
OSE17 M&E 3l 29,676,000 29,676 0 29,676
Oot217 == &l 29,676,000& 29,676 0 29,676
O+3857 H3 ZE&XxH &X 49,460,000& 49,460 0 49,460
OsS827 N&E ZHISARl 204

39,568,000 39,568 0 39,568
OZU3T ME HHISA 34,622,000 34,622 0 34,622
OZU27 s&EOls =2 LY SA

19,784,000 19,784 0 19,784
OdU27 Fads == JHl 34,622,000 34,622 0 34,622
O&A17 &=0t2 NMEEHI 39,568,000 39,568 0 39,568
O0AlZ Y2 HEHSA 34,622,000& 34,622 0 34,622
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Selr Ngipgael (&)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
OXZ0te AY=Z SZHIA 49,460,000 49,460 0 49,460
O=817 =2 AME FHISAM 24,730,000 24,730 0 24,730
OFEA1R CIIM MA A 39,568,000& 39,568 0 39,568
Oz=82+ &0t MEEHI 29,676,000 29,676 0 29,676
Odtzg17 =2 AIEEH| 24,730,000& 24,730 0 24,730
OXMLH27 ==t A& &X 29,676,000& 29,676 0 29,676
Og=317 sZAH &Yl ¥ EZ
39,568,000& 39,568 0 39,568
OFE17 MA s 79,280,000& 79,280 0 79,280
og=17 =2 &1y 29,676,000& 29,676 0 29,676
odg(2s) AMd s+ 39,568,000 39,568 0 39,568
OY=s=s3CHX & =2 =&  19,784,000& 19,784 0 19,784
OZd17 OIS &2 &2 F 49,460,000 49,460 0 49,460
OL2i7 M2 =2 SELHE 49,460,000 49,460 0 49,460
Ol (A&=)0Ie =28 =& 39,568,000 39,568 0 39,568
OJ =02 o2 MEH 29,676,000 29,676 0 29,676
O8d27 s &XxY 49,460,000 49,460 0 49,460
OFZM&E (022 S orF I 49,460,000 49,460 0 49,460
OZF=s2 L& 44,514 ,000& 44,514 0 44,514
Oote =2 HHl 19,784,000& 19,784 0 19,784
OgtiAME Eil 39,568,000 39,568 0 39,568
O8el =2 I8 24,730,000& 24,730 0 24,730
OotY = == 3l 29,676,000 29,676 0 29,676
OoNgd dgz &1 d 29,676,000 29,676 0 29,676
OSANE FH 24,730,000 24,730 0 24,730
ORolsz &2 d 39,568,000 39,568 0 39,568
OZFs~28t =2 o2 d 39,568,000& 39,568 0 39,568
OotarE 2 34 MEE 39,568,000& 39,568 0 39,568
Ostg~-&ds2 =2 &2 39,568,000& 39,568 0 39,568
OHc HNegdsz &xH 39,568,000& 39,568 0 39,568
OtEnts ¢t &xH 24,730,000& 24,730 0 24,730
Odet HIEXEe 7 =2 HESA
15,000,000& 15,000 0 15,000
O&EOS ot SELH I A 19,784,000& 19,784 0 19,784
Ot EDES otd OFAZEZEH I AL 24,730,000 24,730 0 24,730
OMZ Y =2 HH B2 3 A 49,460,000& 49,460 0 49,460
OUWZE Moll?Ie =S 22 32A 29,676,000 29,676 0 29,676
Oltet SE=s2 48 24 & SH3SM
29,676,000 29,676 0 29,676
OHELS OtAE ZEHIA 19,784,000 19,784 0 19,784
OQENES &2 OtAZ ZEHIAM
39,568,000& 39,568 0 39,568
OathotE 2 == &X3A 29,676,000& 29,676 0 29,676
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SA BB (S) - MRAY - BAS e
O=gAd 89 JuIBA 39,568,000 39,568 0 39,568
ONSOtS W42 SXSM  39,568,0002 39,568 0 39,568
OMNMBOIS th+2 FHIBA  39,568,0008 39,568 0 39,568
OUS 52 WEZTA 29,676, 0002 29,676 0 29,676
OBXE 52 HTZBA 99,100, 0002 99,100 0 99,100
O=2 52 EFBA 39,568, 0002 39,568 0 39,568
OER2X? =X VHYZ WY
49,460, 0002 49,460 0 49,460
OBSH+2 FHIZA 39,568, 0002 39,568 0 39,568
OLMOIS & FXT &1 59,460, 0002 59,460 0 59,460
OZENS 9 52 Y 34,622,000% 34,622 0 34,622
OUABAZTZ L HHFIEX
39,568, 0002 39,568 0 39,568
O2RHE Bl 39,568, 0002 39,568 0 39,568
OJtE0tE 942 OlAR X 138,992,000% 138,992 0 138,992
OUf®Ote 22 OlA2 ZF 99,100,000 99,100 0 99,100
OLjarst o1 OtAE EZTA 49,460,000% 49,460 0 49,460
ODIZ(LH) ME ZHIZA 34,622,000 34,622 0 34,622
O30S 242 FHIBA 29,676, 0002 29,676 0 29,676
ONTI ME HHIZA 34,622, 0002 34,622 0 34,622
O2R0tE ME BHIBA 29,676, 0002 29,676 0 29,676
O£ H4+2 ZHIZA 19,784,000% 19,784 0 19,784
OMUT EZ2A 39,568, 0002 39,568 0 39,568
OSSH ZTHIA 29,676, 0002 29,676 0 29,676
ORGHH ZZ A 39,568, 0002 39,568 0 39,568
0= ot 52 L OISXAR LTHTM
29,676,000 29,676 29,676
OS50S Y2 a2 HBIA
29,676,000 29,676 29,676
OZ1 0ig MY A3 EEBA
69,370, 0002 69,370 69,370
OFEFES 52 GFAL HEHY LASA
19,784,000% 19,784 19,784
Os8 52 #BIA 49,460, 0002 49,460 49,460
OSZ-ZN2 ARE2 TH 79,280,000 79,280 0 79,280
OstslS 52 BRI L Hh+2 T
29,676, 0002 29,676 0 29,676
O0IB0tE 22 MEE 29,676, 0002 29,676 0 29,676
SANSE B4 L HIBA 29,676,008 29,676 0 29,676
OU=2E 52 2TITA 29,676, 0002 29,676 0 29,676
ONE2l NE ZHIZA 24,730,0002 24,730 0 24,730
OFE ME THIBA 29,676, 0002 29,676 0 29,676
OZAB NE HHIZA 29,676, 0002 29,676 0 29,676
O20{2 ME HHIZA 29,676,000 29,676 0 29,676
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SN SAGEA) - MRALY - BES 0l &t o 0% o Hl D&
OHe =2 HHISA 29,676,000 29,676 0 29,676
O&ELOS otz ZHIZBA 15,000,000& 15,000 0 15,000
OOt&0ts otd =SHEHIA 29,676,000 29,676 0 29,676
oot s2 L& 19,784,000& 19,784 0 19,784
og=s Ha FH 39,568,000& 39,568 0 39,568
OU= &0t= =2 Hl 29,676,000 29,676 0 29,676
OUs 8s5= HMA 2= 29,676,000 29,676 0 29,676
O== E¢= 52 £& 29,676,000 29,676 0 29,676
O%=x =2 HHAE 19,784,000& 19,784 0 19,784
OFd =2 FHl 29,676,000 29,676 0 29,676
oolgors etz otA2 & 34,622,000 34,622 0 34,622
O&lIl A& EH 39,568,000 39,568 0 39,568
Ol s2 =& 34,622,000 34,622 0 34,622
OeHH =2 FH 34,622,000& 34,622 0 34,622
O&gxe+ o2ty okA& Z & 39,568,000 39,568 0 39,568
OZXl27 0t Mgz FHl 39,568,000& 39,568 0 39,568
Oz s2 2% 39,568,000& 39,568 0 39,568

=02 == 34l 29,676,000 29,676 0 29,676
Odtel A& FH 39,568,000 39,568 0 39,568
Oli= stadts & otAa2 ZF

19,784,000& 19,784 0 19,784
OU=0IsS etz otAa38 =& 39,568,000 39,568 0 39,568
O3staltts et OtAE M=)

34,622,000 34,622 0 34,622
OLRE NEsE HEYZR HESA

29,676,000 29,676 0 29,676

22 N& HUISA 34,622,000 34,622 0 34,622
O2LSAL HIEZ EZA 24,730,000 24,730 0 24,730
OFd A= 2z ¢ UE =28 o222 =&

S A 39,568,000 39,568 0 39,568
Og=itsetz =282 F 39,568,000& 39,568 0 39,568
Oott 2= =2 HHSA 29,676,000 29,676 0 29,676
OB ML =2 EZEHIA 34,622,000& 34,622 0 34,622
O=&8An =¥ 23=2 HHl  24,730,000& 24,730 0 24,730
OMSZHEZ SFIA 34,622,000& 34,622 0 34,622
Osle] MEEEEZ2 EXISA 29,676,000 29,676 0 29,676
O&zlts 02 ZHIA 19,784,000& 19,784 0 19,784
Octs0tE2 082 ZTEIA 19,784,000& 19,784 0 19,784
OZ4dis e EHE=* 15,000,000& 15,000 0 15,000
O0I=0ts aY=2 ZEHIA 34,622,000 34,622 0 34,622
Oa=0tE L T2 I A 24,730,000 24,730 0 24,730
Od=0ts4+=% & =2 EXZ2 MA

10,000,000& 10,000 0 10,000
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SA- - H2A(3A) - MM - BES Off &t 24 I ZH Hus2
OY= D=tz MESHZAt 19,784,008 19,784 0 19,784
ORSOS 242 OlAR EXH 19,784,008 19,784 0 19,784
OBtBE ta2 & 19,784,0002 19,784 0 19,784
Ol 4Jlnte o2 Il 39,568, 0002 39,568 0 39,568
OS=® ®2 =2 T 39,568, 0002 39,568 0 39,568
OO 22 HES 29,676,0002 29,676 0 29,676
OR® 293 Ma | 39,568, 0002 39,568 0 39,568
OUAF HHB MIE =l 39,568, 0002 39,568 0 39,568
OSHE t+2 Fl 29,676,002 29,676 0 29,676
O=Il gal ME Z 29,676,0002 29,676 0 29,676
OUHB TYZ TYTA 29,676,002 29,676 0 29,676
OFEE 52 HEAY 15,000, 0002 15,000 0 15,000
O 22 HEEF Abg 79,280,0002! 79,280 0 79,280
ORHB TYZ AHAL LAY

19,784,002 19,784 0 19,784
O%S HH0l 52 JUIAY 59,460,008 59,460 0 59,460
023 H4+2 FHlAY 29,676,002 29,676 0 29,676
OSR08 M FHlAY 19,784,0002 19,784 0 19,784
O%S 52 SHFBA 39,568,002 39,568 0 39,568
OUES ATHX C2XTBZ SXSA

99, 100,0002 99,100 0 99, 100
OBEDIS o2 HH+2 % o2 HEE

49,460,0002 49,460 0 49,460
Os2l~6l X8 52 2F 29,676,002 29,676 0 29,676
OSBSS0IS 22 OA2 EX  39,568,0002 39,568 0 39,568
ONEI| O3 22 OtAR EH  24,730,0008 24,730 0 24,730
ooz ME Hl 39,568, 0002 39,568 0 39,568
Ol ZSsD & FAT & 19,784,000 19,784 0 19,784
OealY taz Hl 24,730,0002 24,730 0 24,730
OZMOIIS Bi+2 Fb| 148,920, 0002 148,920 0 148,920
OZAwel ¢ =2 Y 34,622,002 34,622 0 34,622
OYRNP VSS 52 SEITN &8

19,784,0002 19,784 0 19,784
ONBIP-NBIT2 NISHACE HTHZA

EPEL 19,784,0002 19,784 0 19,784

OZY-ME2 DISHRTR SHFTA S8

19,784,0002 19,784 0 19,784
023 B =2 WA 49,460,0002 49,460 0 49,460
OXE17 HEME BUIBA  49,460,0002 49,460 0 49,460

=5 A0S § HEE ZHISA

29,676,002 29,676 0 29,676
O=J FI 52 HEIA 29,676,000 29,676 0 29,676
O4 OHE ME FHIBA 29,676,002 29,676 0 29,676
OES =tX2 A& MHIBA 29,676,008 29,676 0 29,676
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SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&
Onz27 Fsu =Y FHIS A 29,676,000 29,676 0 29,676
O3 =2 HELYEIA 79,280,000 79,280 0 79,280
O2EB17 2= ME ZHISAM 49,460,000 49,460 0 49,460
Ot M2 S ZA 297,840,000 297,840 0 297,840
ORZ L (XAH) HHISA 24,730,000& 24,730 0 24,730
OoHg dsitE s2H4 49,460,000& 49,460 0 49,460
OZd HAElls s2 &2 29,676,000 29,676 0 29,676
OfRHE =2 FHIAMY 19,784,000& 19,784 0 19,784
O3S s2 SZZAZ 19,784,000& 19,784 0 19,784
Of=E=Xsa & th=2 FHI2A 39,568,000& 39,568 0 39,568
Oll= s2 MEHE 2 =HHI A 39,568,000& 39,568 0 39,568
O Y=z SHIA 24,730,000 24,730 0 24,730
O2s Mgz = IA 34,622,000 34,622 0 34,622

SAHOlZE NMEZHISA 29,676,000 29,676 0 29,676
OMEBZ sZZHISA 34,622,000 34,622 0 34,622
OM=2&2 SZEIA 29,676,000 29,676 0 29,676
Oot&itE E2¥ A= £ 19,784,000& 19,784 0 19,784
O&30l2 S48 0ld & Ex=3A

10,000,000& 10,000 0 10,000
Ous0ts MoiE X SHEX S A
15,000,000& 156,000 0 15,000
OUs d2= JtEd Y & 19,784,000 19,784 0 19,784
OUE1d &= S FHIAY 19,784,000 19,784 0 19,784
OotAH OIS &1 =8¢ FHl 10,000, 000& 10,000 0 10,000
Osgllsdd 8z =T SA
198,560, 000& 198,560 0 198,560
OYHEOlE M2 EZFIA 446,760,000 446,760 0 446,760
O&JbtE dLZ2 ZHISA 99,100,000& 99,100 0 99, 100
Oa7L FOU=JAAY A AELAH
250,000,000 250,000 0 250,000
OAx7L FeU=JAAY XNEHFEH|
50,000,000& 50,000 0 50,000
OArE A2 RX2el 300,000, 000& 300,000 0 300,000
ON& & s23Hl 500,000,000& 500,000 0 500,000
O0=8X 24 200,000, 000& 200,000 0 200,000
OXd+=2 AEINH Z2AM 9
19,000, 000& 19,000 0 19,000
03 A& S THHI 144,486 51,714 92,772
OM&I0LS THOH Ol 2 A
100,000, 000& *0.90/100 900 0 900
OEE MRBA 22 =52 FUIAME
200,000, 000% *0.72/100 1,440 0 1,440
OFE == ZFHISAM
30,000,000% «1.08/100 324 0 324




SA: ALD
3 XK
SHel: X e

SA - - BR(EA) -

Off &t 24

2 P22 FH|IZ A

25,000,000& *1.
OHZ0IES 2 FHHIZA

40,000,000& *1.
O8J oIt SZEIZA

25,000,000& *1.
Oo=0tS o2 SHZE A

40,000,000 *1.
HE S A

20,000,000 *1.

30,000,000 *1.
Ogal MEZHIZAL  20,000,0008 #1
OB ME 52 HEFBA

50,000, 0002 *1
OMAS D22 HHISBA

20,000,0002! *1
OUZ s2He 2 MEZHIZM

30,000, 00021 *1
OM& DBIF OlAZ ZRHTA

40,000,0002! *1
OB o2 HTHTM

60,000,000 *0.
OB0IS ALHUBADHN

40,000,0002! *1
OYX17 242 HTHT M

50,000, 0002 *1
OB 2H2 EHTA

30,000,0002! *1
OEZor2 HHBABA

30,000, 00021 *1
ONB 52 OtA2 THEHBA

30,000, 00021 *1
OYXME HUIZA  30,000,0008 1.
ObiOtel 52 ZHTA

20,000,000%! *1.
OBHE NE ZHIZA

30,000,000%! #1.
OMB HI& HUIZ A 30,000,000 *1
OBMT NE FHIZA

50,000, 00021 *1
Oots DI 42 Fbl

30,000,0002! *1
OB SHHBO 22 Hl

70,000,000 %0.
OS217 01222 42 Il

30,000,000 *1.
OB B § oL Fyl

20,000,0002! *1.

08/100

08/100

08/100

08/100

08/100

08/100

.08/100

.08/100

.08/100

.08/100

.08/100

90/100

.08/100

.08/100

.08/100

.08/100

.08/100

08/100

08/100

08/100

.08/100

.08/100

.08/100

90/100

08/100

08/100

270

432

270

432

216

324
216

540

216

324

432

540

432

540

324

324

324
324

216

324
324

540

324

630

324

216

270

432

270

432

216

324
216

540

216

324

432

540

432

540

324

324

324
324

216

324
324

540

324

630

324

216
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Selr Ngipgael (&)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2

O&E= MMz A& ¢ etz FH

50,000, 000& *1.08/100 540 0 540
OZ4 ZHZA MEHH|

40,000, 000& *1.08/100 432 0 432
O3ty HLEl NM&EHEH|

30,000, 000& *1.08/100 324 0 324
OJ&t0tS =2 HHl

20,000, 000& *1.08/100 216 0 216
OZJ tHeEs A& FH

30,000, 000& *1.08/100 324 0 324
Os& 2 M& &Hdl  40,000,000% «1.08/100 432 0 432
Ous o2 A& EH

40,000, 000% *1.08/100 432 0 432
OXMH& 22 =2 EZE 20,000,000 *1.08/100 216 0 216
OO0ld27 ==& =%  30,000,000% «1.08/100 324 0 324
Ods0ts ==2& 2% 30,000,000&«1.08/100 324 0 324
OX&t0rs ot otAZEd

30,000,000 *1.08/100 324 0 324
OdSF0OIE &L B S A

30,000,000 *1.08/100 324 0 324
Odtss flgs=2 24

30,000,000 *1.08/100 324 0 324
Otizt2 A3 M & &l 30,000,000 «1.08/100 324 0 324
OLsg gz otA22H

30,000,000% *1.08/100 324 0 324
Oseg2 =2 Z&  30,000,000&+1.08/100 324 0 324
O2A &gz &mE  20,000,0002«1.08/100 216 0 216
OIS YZE OtAZEE

30,000,000& «1.08/100 324 0 324
OO0l 02 MEEHI 30,000,000 *1.08/100 324 0 324
OSE17 M& ZHISA

30,000,000 *1.08/100 324 0 324
OOF=217 Hi#==2 &Hl 30,000,000& «1.08/100 324 0 324
O7&57 HZ2 &Y AX

50,000, 000& *1.08/100 540 0 540
OS82+ N&E FHISA 2 204

40,000, 000& *1.08/100 432 0 432
OHU3T NM&E ZHBISA

35,000,000& *1.08/100 378 0 378
OZU27 SENIS s2 HEZHESA

20,000, 000& *1.08/100 216 0 216
O&dU2+ RS =2 FHl

35,000, 000& *1.08/100 378 0 378
OFA17 &=20t2 MEEH

40,000, 000& *1.08/100 432 0 432
OWAZ Y2 THEHEZA

35,000,000& *1.08/100 378 0 378
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Off &t 24

0
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19,784,0002 19,784 0 19,784
ONSES Hh+=Z ZHITA 49.,460,000% 49,460 0 49,460
OA% A0IY+F SXBAF  99,100,0008! 99,100 0 99,100
OB (2S) 842 FJUIZA  39,568,0008 39,568 0 39,568
OBIHE BU+2 ZUIBA  24,730,0008 24,730 0 24,730
OYE W42 JHIZA 24,730,000% 24,730 0 24,730
OFUTT 842 FUISBA  39,568,0008 39,568 0 39,568
O (MOIS ) 842 FHIBA

49.,460,000% 49,460 0 49,460
OFotS 42 &XBA 39,568, 0002 39,568 0 39,568
OYEW+2 FUIBAH(ZO )

39,568,000% 39,568 0 39,568
OYYNOIESIHY B+2 FHTM

59,460,000 59,460 0 59,460
OF %0 H4g Nots HLTM

29,676,000& 29,676 0 29,676
OFE B+2 FHZM 29,676,000% 29,676 0 29,676
0% =2HTTAH(EO) 29,676,002 29,676 0 29,676
OB H+2 &XSM 39,568, 0002 39,568 0 39,568
OYe B+2 SXTM 29,676,002 29,676 0 29,676
ONE 52 SHEFTHM 29,676,000% 29,676 0 29,676
OR+ 8¥=2 HEIITMN 29,676,000 29,676 0 29,676
OFIEY (VU NVAXT) S2HTYS

AH(ROF) 39,568, 0002 39,568 0 39,568

O w5 iz SXIZA  10,000,0002 0,000 0 0,000
OB W+2 FHSM 19,784,0002 19,784 0 19,784
OSF IE2USH HLWLZ ZLIA

15,000,008 15,000 0 15,000
0% S5 52012 L HBZA

59.,460,000% 59,460 0 59,460
OUBLRI SYH4E DHAL

39,568, 0002 39,568 0 39,568
O =98 QBT HLAL

29,676,000% 29,676 0 29,676
Ocel SW4+2 HYIA 24,730,000% 24,730 0 24,730
OWALRX ELTA 19,784,0008! 19,784 0 19,784
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SA EtH+=2 0IZ 3 A 19,784,000& 19,784 0 19,784
O&F17 =2 EHlAZ 29,676,000 29,676 0 29,676
OOt =& 28 &EX3A 34,622,000& 34,622 0 34,622
O&H =2 XIS At 15,000, 000& 15,000 0 15,000
Ooter s StH+2 FHIAY
29,676,000 29,676 0 29,676
OEXN1IT USRS =582 ZX3A
29,676,000 29,676 0 29,676
OUsis sg&8 28 AX2A
29,676,000 29,676 0 29,676
OXHNIS s 28 HAX2A
29,676,000 29,676 0 29,676
OUEA X272 & B3 A 15,000, 000& 15,000 0 15,000
OotZh Ot A S 2 XIS A
49,460,000 49,460 0 49,460
OS=2S 2 EXSAM 34,622,000 34,622 0 34,622
OME Rel24 =8 ExIHH EX3AM
24,730,000 24,730 0 24,730
OotZ Ot E Hi+=2 WA XIS A
24,730,000 24,730 0 24,730
O30S L3 =2 MEBA
24,730,000 24,730 0 24,730
OSS0E &% =2 FUIZA
34,622,000 34,622 0 34,622
OZJH0ote == EMHA HES=ZAM
34,622,000 34,622 0 34,622
A=A =ZTE BELSAM 10,000, 000& 10,000 0 10,000
OHIJl =2 HHIZA 19,784,000& 19,784 0 19,784
Ok Eti+==2 HHlAE 39,568,000 39,568 0 39,568
Ofs Etl=2 HHlAL 39,568,000 39,568 0 39,568
Ol &= 8tl=2 EXAY 29,676,000 29,676 0 29,676
Odel27 Ht2E =AY
99,100,000& 99,100 0 99,100
ORJEHE =2 FUHISA 69,370,000& 69,370 0 69,370
OXl=0t2 8tl=2 ZUl3A 69,370,000 69,370 0 69,370
OdiEilE 8thl=2 FUI3A 24,730,000 24,730 0 24,730
Oz=2AFX M E=3A 24,730,000 24,730 0 24,730
O 32 =2 ZUIEA 49,460,000 49,460 0 49,460
OFE27? 2H =2 FHIEA 19,784,000 19,784 0 19,784
OsJ =232 s+ HLaMd
29,676,000 29,676 0 29,676
ONE3F LHE =2 EXSA
59,460,000 59,460 0 59,460
OAHE th=2 ZHISA 59,460,000 59,460 0 59,460
OJ&s27 sLE= MHLAEY 29,676,000& 29,676 0 29,676
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O S W42 ZHISA 79,280,008 79,280 0 79,280
OZY ANFX 842 ZUIBA 44,514,008 44,514 0 44,514
OLEl ZFX BHAE ALY
29,676,002 29,676 0 29,676
OHZe! JIHSSRZ HTYIA
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OBAMAT 5L+ AR0IS ZSAY
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O£217 T2 W42 IUISBA
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OTAIZ BT HLAL 29,676, 000%! 29,676 0 29,676
OZM sg4He 10,000, 0002 10,000 0 0,000
OHIOE XS 842 BABA
10,000, 0002 10,000 0 10,000
OSSARY ¥S 42 SXATM
19,784, 0002 19,784 0 19,784
O=30t2 842 N2+ 19.784,000% 19,784 0 19,784
OS2lR 5@ £284£TA 13,000,0002 13,000 0 13,000
OZES L™ SXBA 29,676,009 29,676 0 29,676
Ok= Eti=2 FHISA 300,000, 000& 300,000 0 300,000
OLATLT W24 AL 1,096,040, 0002 1,096,040 695,590 400,450
OFEP 842 BUIBA  59,460,0002 59,460 0 59,460
OH2I37 58 2 SXTA 29,676,008 29,676 0 29,676
OR¥el =Yg I SXIA 29,676,000 29,676 0 29,676
03 Al& 2 ThHI 83,250 24,966 58,284
Osds CANECZ B2 FHIAY
30,000,0008 *1.08/100 324 0 324
OMBBARK La24 o ZLTA
40,000,0008 *1.08/100 432 0 432
O3Y 25 =842 DHIA
30,000,0008 *1.08/100 324 0 324
O22 U2 BHAZE ZUISA
20,000,0008 *1.08/100 216 0 216
OMSALEX ST AL
150,000,000 *0.72/ 100 1,080 0 1,080
OLZARX YR HEIHIBA
70,000,008 %0.90/100 630 0 630
OBE M2 842 IHISA
100,000, 000! *0.90/ 100 900 0 900
OLE TAHS 842 FHIBA
80,000, 0008 %0.90/100 720 0 720
ORI S 842 FHIBA
50,000,0008 *1.08/100 540 0 540
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ON=EE =2 HUISAH
50,000,000& *1.08/100 540 0 540
OA28 2H0/LxF X 3A
100,000, 000& *0.90/ 100 900 0 900
OJs(2s) 82 THISAM
40,000,000& *1.08/100 432 0 432
OSIEZ Etis==2 HUIZA
25,000,000& *1.08/100 270 0 270
OYE = 4 H| S A
25,000,000& *1.08/100 270 0 270
OFLXT E+2 FHISA
40,000,000& *1.08/100 432 0 432
OJI8 (Mot2g) 2 HUIZA
50,000,000& *1.08/100 540 0 540
OSotE Bi£2 &3
40,000,000& *1.08/100 432 0 432
O +=2 HHISAH(EAHR2H)
40,000,000& *1.08/100 432 0 432
OLLNOE=EY =2 HUISA
60,000,000& *0.90/100 540 0 540
OH =0t A Xot: ML S A
30,000,000& *1.08/100 324 0 324
OFE B2 HHISA
30,000,000& *1.08/100 324 0 324
O2Y SZ IS AH(EO)
30,000,000& *1.08/100 324 0 324
OTA =2 HXISA
40,000,000& *1.08/100 432 0 432
Ogdt B2 AX3A
30,000,000& *1.08/100 324 0 324
OME 52 BTN
30,000,000& *1.08/100 324 0 324
O+ =2 SLYSA
30,000,000& *1.08/100 324 0 324
O (HLUSE AXNF2UXTR) s2ZHEES
AF(EHOF) 40,000,000& *1.08/100 432 0 432
O =2 MU SA
20,000,000& *1.08/100 216 0 216
O2Y 25 S2I12 L S FHBA
60,000,000& *0.90/100 540 0 540
OUZALRX S22 WAL
40,000,000& *1.08/100 432 0 432
OHE =g ety LAY
30,000,000& *1.08/100 324 0 324
OZ2 Eti+=2 &S A
25,000,000& *1.08/100 270 0 270
OHAARX =S AF 20,000,000 *1.08/100 216 0 216
OFEAMN =2 0I&Z A
20,000,000& =1.08/100 216 0 216
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OEF17 =s+2 FHIAE

30,000, 000& *1.08/100 324 324
O0lll sg= 28 ZX3A

35,000, 000& *1.08/100 378 378
Ovotet HE S S22 FHIALY

30,000, 000& *1.08/100 324 324
O USRS =582 ZX3A

30,000, 000& *1.08/100 324 324
OUslts sgE 28 EX3A

30,000, 000& *1.08/100 324 324
OXHlts sgE 28 EX3A

30,000, 000& *1.08/100 324 324
OvotE Ottt S Et+=2 EXI3A

50,000, 000& *1.08/100 540 540
OZ=E E2 EX3A

35,000, 000& *1.08/100 378 378
OAlE Rel2a =8 S2H £XSAM

25,000,000& *1.08/100 270 270
OdtE Ot S =2 HEXISAM

25,000, 000& *1.08/100 270 270
O&=30t2 €7 =2 ML BA

25,000,000& *1.08/100 270 270
O=2s0t2 = =2 FUISAt

35,000,000 *1.08/100 378 378
OZAHOE == =N HES=SA

35,000, 000& *1.08/100 378 378
OHIJl =2 FHISAM

20,000, 000& *1.08/100 216 216
O2: Ei+=2 FHIAY

40,000, 000& *1.08/100 432 432
O3s Eti+=2 FHIAMY

40,000, 000& *1.08/100 432 432
OUIl &= El=2 XA

30,000,000 *1.08/100 324 324
Odel27 MU= Bi==IH&ALS

100,000, 000& =0.90/100 900 900
ORTLE EH==2 FHISA

70,000, 000& *0.90/100 630 630
OXS0te EtH==2 IS A

70,000, 000& *0.90/100 630 630
OclE0tES EtH=2 HHISA

25,000,000& *1.08/100 270 270
O&=Aa8X MY Ex=3A

25,000,000 *1.08/100 270 270
O B2s =2 TEISAM

50,000, 000& *1.08/100 540 540
OEE27 2H =2 ZFHIZA

20,000,000 *1.08/100 216 216
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30,000, 000& *1.08/100 324 0 324
OLNE3T 4= =2 XS
60,000, 000& *0.90/100 540 0 540
OZHE =2 HHISA
60,000, 000& *0.90/100 540 0 540
OJz27 sdE+ HLAMY
30,000, 000& *1.08/100 324 0 324
ONE37 OtS3l2 & =2 FHISAM
30,000, 000& *1.08/100 324 0 324
O =S th=2 TEIS3AM
80,000, 000& *0.90/100 720 0 720
O3g AMEX 42 FHISAM
45,000, 000& *1.08/100 486 0 486
OHel 53X ExAIE E2AMY
30,000,000 *1.08/100 324 0 324
OE=8 JAA}SBHZ HLITSA
30,000, 000& *1.08/100 324 0 324
OFAXN=X =g A=0IS S=AE
300,000, 000& «0.72/100 2,160 0 2,160
OLNS17 2AEF & =2 EEISA
30,000, 000& *1.08/100 324 0 324
O&=17 28 =2 HHISA
50,000, 000& *1.08/100 540 0 540
O7A = eratd LAY
30,000, 000& *1.08/100 324 0 324
O=2sZ2Y ¥ =2 Z&XSA
20,000, 000& *1.08/100 216 0 216
O=30ts 82 HE=>
20,000, 000& *1.08/100 216 0 216
OSEs gty EX3M
30,000, 000& *1.08/100 324 0 324
Ot X=X HE=AtSH
1,100,000, 000& *0.36/100 3,960 4,410 A 450
OZFH17 Et+=2 FHISA
60,000,000 «0.9/100 540 0 540
OHel3+ =38 28 Z&X3AM
30,000, 000& *1.08/100 324 0 324
ORde =g8 23 ZX3M
30,000,000 *1.08/100 324 0 324
KA =F00 A ALY 350,000 1,430,000 A 1,080,000
< 105,000 429,000 A 324,000
s 245,000 1,001,000 A756,000
401 AIEHI L 20 350,000 1,430,000 21,080,000
< 105,000 429,000 A 324,000
s 245,000 1,001,000 AT756,000
01 A& HI 347,479 1,420,208 A1,072,729
OZHEx=AI 347,479 1,420,208 A1,072,729
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SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
—=os ZaAE EXEA 165,797,008 165,797 297,840 132,043
< 50,000 90,000 £40,000
2 115,797 207,840 £92,043
—~CENAT MY HUBA 181,682,0008 181,682 327,624 A 145,942
= 55,000 99,000 A44,000
2 126,682 228,624 A101,942
—SHMAX MY FHIIA 0 0 556, 472 556,472
= 0 168,000 168,000
2 0 388,472 388,472
—E=M=X MY ZBHISA 0& 0 238,272 N 238,272
< 0 72,000 A72,000
2 0 166,272 166,272
03 Al = Ch bl 2,521 9,792 AT,271
HEEIN 2,521 9,792 AT,271
—~2YS Y2ANE LXIA
167,000,000 *0.72/100 1,203 2,160 ~957
—CEMAX MY FHIA
183,000,000 *0.72/100 1,318 2,376 A1,058
~SHMAX MY FHIA i 0 3,528 £3,528
~E2HAN MY FHISA 02 0 1,728 ~1,728
CENERTESIPY 2,306,000 0 2,306,000
2 2,306,000 0 2,306,000
403 TR SHH S XH2 0l ™ 2,306,000 0 2,306,000
2 2,306,000 0 2,306,000
02 2025 Ol CH 8 X+ = = 91 € Abed b 2,306,000 0 2,306,000
O3B A 2,306,000 0 2,306,000
—HZX BEIHAA  2,306,000,0009 2,306,000 0 2,306,000
2 2,306,000 0 2,306,000
£z =#1® 26,705,202 17,544,402 9, 160,800
2 2,162,000 2,162,000 0
= 82,000 0 82,000
2 24,461,202 15,382,402 9,078,800
I2E o RE HTF 15,596,000 10,542,000 5,054,000
2 2,162,000 2,162,000 0
= 82,000 0 82,000
2 3,352,000 8,380,000 4,972,000
0RO R N AY 1,100,000 700,000 400,000
2 350,000 350,000 0
2 750,000 350,000 400,000
401 AIEHIL 2T BI 1,100,000 700,000 400,000
2 350,000 350,000 0
[ia 750,000 350,000 400,000
01 Al 1,091,720 694,780 396,940
OJNOFESSD ORI0IEE 7Y M AL
297,840,000%4 297,840 0 297,840
Omszsstn =4 STEY 99,100,008 99, 100 0 99, 100
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01 Al 9,116,126 5,104,108 4,012,018
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1,693,880,000% 1,693,880 794,960 898,920
Q&I BS-NSH(TE2H5H) HTYTA
1,893, 160,0002 1,893, 160 794,960 1,098,200
OBM SR(RE7EH) HHAL 24X % WE
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30,000,000 *1.08/100 324 0 324




2N
X ZH -
L= B

el

SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
O 175 M (RQA0FSZ~0tY) MZZZA
400,000, 0002 *0.72/100 2,880 0 2,880
OJI0FR! DISOIEE M AIY
40,000,000 *1.08/100 432 0 432
OO0 2 LH17 M2 MHERZA
40,000,000 *1.08/100 432 0 432
OH= JT0IS MUER MHI2A
100,000,000 x0.9/100 900 0 900
OHS ZENS(2EIEH) HI2WAAY
30,000,000 *1.08/100 324 0 324
ONZE £4(2E454) FAXTHLIZA
100,000,000 *0.9/100 900 0 900
OUY HIX0IS YR (ZEIPEH) HLED
AF 150,000, 0002 *0.72/100 1,080 0 1,080
O8F 2T954(2I~232) LI A
700,000, 0002 *0.63/100 4,410 0 4,410
OS2 QM7 NYT2 HEH
70,000,000 *0.90/100 630 0 630
ORH s|MDI2 CR2DEAE HLAY
300,000, 0002 *0.72/100 2,160 0 2,160
CoBS Y HAAY 104,000 100,000 4,000
= 50,000 50,000 0
= 2,000 0 2,000
= 52,000 50,000 2,000
401 AlEHI 2 2 0hl 104,000 100,000 4,000
= 50,000 50,000 0
= 2,000 0 2,000
- 52,000 50,000 2,000
01 Al 103,252 99,100 4,152
ORSUHSHE AL 103,252 99,100 4,152
— LSS RN ALY 103,252,0008! 103,252 99,100 4,152
= 50,000 50,000 0
= 2,000 0 2,000
= 51,252 49,100 2,152
03 Al =2 CHH| 748 900 152
ORSYHSHE A AL 748 900 A152
— LSS Y ALY 748,000 748 900 152
MED OHCE HHAY 160,000 0 160,000
< 80,000 0 80,000
= 80,000 0 80,000
401 Al HIL 2T Y] 160,000 0 160,000
< 80,000 0 80,000
= 80,000 0 80,000
01 Al 158,560 0 158,560
OSHEXAY 158,560 0 158,560
—dEs s MERAHS 2L
99,100,000 99,100 0 99,100




2N AL
My C2 HuE
©el: NYE Y PE HEE CERED
SN HH - (EH) - HRAY - BES 0] &b 2 p/E-T HI RS2
= 50,000 0 50,000
2 49,100 0 49,100
—WHMESSD MEBHUOHT2IHAY
59,460, 0002 59,460 0 59,460
< 30,000 0 30,000
2 29,460 0 29,460
03 A& S THHI 1,440 0 1,440
OZHI BE AL 1,440 0 1,440
—HYs SR MEHOIHT2FY ALY
90,0002 900 0 900
—WHMESSD MBTAOHT2IHAY
540,0002 540 0 540
S R~Q2L £2 HEF 2,000,000 1,600,000 400,000
401 N EHIL2THEI 2,000,000 1,600,000 400,000
01 Al bl 1,992,800 1,594,240 398,560
O2E5056~(7)BBRETE HEHBA
1,992,800, 0002 1,992,800 1,594,240 398,560
03 A& 2 THEI 7,200 5,760 1,440
O2E5056~(7)BBREETE HEHBA
2,000,000, 0002 *0.36/ 100 7,200 5,760 1,440
S0EC2 ST 9,800,000 5,910,000 3,890,000
SHEcZz 25 2 el 5,900,000 3,210,000 2,690,000
401 NEHIL2THEI 5,900,000 3,210,000 2,690,000
01 Al bl 5,856,746 3,183, 144 2,673,602
O3l SROSTYZ (22073 HEFTA
1, 115,968,000 1,115,968 416,976 698,992
OJ10F NS BRE 2 (52028) SHHBBA
148,920,002 148,920 0 148,920
OO0t PRS2 (51015) MEHSBA
596,220,002 596,220 0 596,220
010t S20| WYG 2 (52028) HEIZ A
29,676, 0002 29,676 0 29,676
OO ZU0IS AYST2 ISy ZXIBA
19,784,0002! 9,784 0 19,784
OOZ N20tS VYT2 HTFIA
49,460, 0002 49,460 0 49,460
OBZ YH27(52035) AHHAL HXIBA
29,676, 0002 29,676 0 29,676
On® AFUYZ(52035) YL B
99, 00,0002 99,100 0 99, 100
O™ HZVYR (52018) FHITA
99, 00,0002 99,100 0 99, 100
OB o2(52015) 2R HSSA
99, 00,0002 99,100 0 99, 100
O GIHT0IS MYTE AHAL SXBM
19,784,0002! 9,784 0 19,784




2N
X ZH -
L= B

el

SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
OX ATHX ME=LZ FHAE
39,568,000 39,568 0 39,568
OaIt aE~XIS(=2018) tH=AEHE ALY
99,100,000& 99,100 0 99, 100
OJtal 222 (=52015) MEE S A
39,568,000 39,568 0 39,568
OJt3l LHAIOIE XY EE HEAIE XIS A
19,784,000& 19,784 0 19,784
oY tesstn MNY-2(=2045) M
S A 248,200,000& 248,200 0 248,200
Ol A0S (52045) S22 EZEH I A
297,840,000& 297,840 0 297,840
OJz27 SE~2EF2 AST2 HASM
15,000,000& 15,000 0 15,000
OReD =8 SHAE HXBA
24,730,000 24,730 0 24,730
03 AlE 2 THHI 43,254 26,856 16,398
OJtzsl S302d Y2 (21E2075) HEE S A
1,120,000, 000& «0.36/100 4,032 3,024 1,008
OJtoF IHE22E2(52028) HEIMHES A
150,000, 000& *0.72/100 1,080 0 1,080
OJM0F PRAEZ2(s1015) HEIMNBZ2AM
600,000, 000& «0.63/100 3,780 0 3,780
OJI0l 20| MNYEZ(=2025) HEISA
30,000, 000& *1.08/100 324 0 324
OOl =20t AYE=2 Jt=d Y AXSA
20,000, 000& *1.08/100 216 0 216
OOl2 XI20t2 Y2 SHEZFHSA
50,000, 000& *1.08/100 540 0 540
O3 ZHN272(=2033) HE AL A XIS A
30,000, 000& *1.08/100 324 0 324
O NHHUYZ(=2035) HHEL I A
100,000,000& *0.9/100 900 0 900
ONY H2TYUR(52015) FHITA
100,000,000& *0.9/100 900 0 900
O H4E2(52018) 223=2MS3AM
100,000,000& *0.9/100 900 0 900
OBY SIHZOS VY2 ATAE AXISA
20,000, 000& *1.08/100 216 0 216
OX ATHX HELZ FHAE
40,000, 000& *1.08/100 432 0 432
OaIt aE~XIS(=2018) tH=AEHE ALY
100,000,000& *0.9/100 900 0 900
OJtal 2822 (52015) MEEH S A
40,000, 000& *1.08/100 432 0 432
OJt3l WAIDtS AgE2 HEAIZSLX S A
20,000, 000& *1.08/100 216 0 216
oY tg=sst JAET2(=2045) SN
S A 250,000, 000& «0.72/100 1,800 0 1,800




2N
X ZH -
L= B
el

SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
OUE RE0I2(50045) CRHEZ2A
300,000,000& *0.72/100 2,160 0 2,160
ORSD =¥ UFAL L1
25,000,000% *1.08/100 270 0 270
Y X2 (2lT207546) LS A 900,000 800,000 100,000
401 Al HI K 201 I 900,000 800,000 100,000
1T AIZHI 894,330 794,960 99,370
OUYg X2 (2z207s) SELEIA
94,330,000 894,330 794,960 99,370
03 Al 2 THHI 5,670 5,040 630
OUY X2 (2z207s) SEELEIA
900,000, 000& «0.63/100 5,670 5,040 630
otg 2N~ &2 T 2E T IA} 1,900,000 1,200,000 700,000
401 AIEHIZL 2CHYI 1,900,000 1,200,000 700,000
A& HI 1,893,160 1,195,680 697,480
O3l =E2N~2E2t S22 ZZFIA
1,893,160, 000& 1,893,160 1,195,680 697,480
03 Al 2 0HHI 6,840 4,320 2,520
OJt3 ¢E2l~2E2 T2 I F I A
1,900,000,000& *0.36/10 6,840 4,320 2,520
02 ot 2a0tS Y2 SHETIA 1,100,000 700,000 400,000
401 AIEHI L 201 1,100,000 700,000 400,000
01 A€ HI 1,096,040 695,590 400,450
OO0tZ2 otd QA0S MYUZ SHELYF I A}
1,096,040, 000& 1,096,040 695,590 400,450
03 Al S THHI 3,960 4,410 A 450
OO0tZ2 otd A0S Y2 HELF I A}
1,100,000, 000& *0.36/100 3,960 4,410 A 450
2 SA2el 1,309,202 1,092,402 216,800
Aol X = 103,000 63,000 40,000
206 M= Hl 103,000 63,000 40,000
01 MHZ 4l 103,000 63,000 40,000
Holitibl gstz2s 2 70,000,000& 70,000 30,000 40,000
2N |2 836,202 759,402 76,800
101 @124l 9,500 5,700 3,800
03 RIHAZ 22 9,500 5,700 3,800
O&Ez=E+¥ IS 9,500,000 9,500 5,700 3,800
201 ¢er24| 107,502 106,702 800
01 At2 22l bl 93,302 92,502 800
o=l 6,000,000 6,000 5,200 800
202 044l 8,200 6,000 2,200




[}

J0 Jo =
Pl

e 0

2N
X ZH -
L= B

el

H e
HU Hu iz

el

SN HY S (3H) - MPAY - BES 0 aF oIS o HR=2
02 M0 2,200 0 2,200
O HOHI 2,200,000& 2,200 0 2,200
405 TtabF S| 70,000 0 70,000
01 AL EFFH S 70,000 0 70,000
OE2RANEx EH 2L 70,000,000& 70,000 0 70,000
SzAagae HE =g 370,000 270,000 100,000
401 AIEHIZL 28I 370,000 270,000 100,000
01 A& Hl 370,000 270,000 100,000
OstaEz TRALB2ANEY 48
370,000,000 370,000 270,000 100,000
HYR2IZH (AL 27,370 28,540 A1,170
Jl=3l 27,370 28,540 A1,170
JlE2&l 27,370 28,540 A1,170
201 Let24E] 10,690 11,200 A510
01 At 22l 10,690 11,200 A510
Oget=&H| 10,690, 000& 10,690 11,200 A510
202 04 Hl 11,400 12,000 A 600
01 =LH YI 11,400 12,000 A 600
ORNEY (A, HOIL, 38& &4 S)
11,400,000& 11,400 12,000 A 600
203 YR =] 5,280 5,340 A 60
04 NI FAH 5,280 5,340 260
ORA2EIRFAHI 5,280,000& 5,280 5,340 A 60
HRags(H4) 21,000 0 21,000
SHEXNE 21,000 0 21,000
EX3erEz 21,000 0 21,000
802 Btet= DI Et 21,000 0 21,000
01 =202x3gerea 21,000 0 21,000
020184 AT =2 FZMEAY FH&H Y
Ol Xt B (=HI) 21,000,000& 21,000 0 21,000




